20205 1 H GRS RE T > 5 —

20205 A FBIAIRRICDOWVT

48308 I(CHISREL>A—ORATMR [BLED] (CKDEFERAZITDRL.
R1DOFABLRTITWLWE U, AFRRICDVTIE. HtEd—R—LAR—2
(https://www.pref.tottori.lg.ip/dd.aspx?menuid=201810) &0 E@AIBIC(E

702 =UTCTBMUET,
=1 HAES

ABR | BEKE |RE B.E
7|sT-1 | 13m | 133.40 | 35.3100
B|sT-2 | s0m | 133.40 | 35.3430
SlsT-3 | 70m | 133.40 | 35.3736
1|ST-4 | 95m | 133.40 | 35.4340
> |sT-5 | 185m | 133.40 | 35.4805
KlsT-6 | 185m | 134.00 | 35.4300
2
“|sT-7 | 95m | 134.00 | 35.4000
:ST-S 70m | 134.00 | 35.3700
|sT-9 | som | 134.00 | 35.3400
> |sT-10] 13m | 134.00 | 35.3200

0
50 — 14
100 {43
o N
2 s

8 9
X2

10
MESWE (BKERDEA :

1

12

13 14

15
oC)

133°
H1 SHAES

134°

(ERE ]

AREAl (SAXRICEE) TEFEEUCE
BRENMHEZR SN, /KFE0-100mDiE/KR (SH]
1313-14CLE> CVFEUTE, SHERAIKS
TESIEHTESREBIHTR 1. /KZRO-
100mDiEKE(FEIA13-15C LD TLE
9 (X2 : MPOEF(TEKE) -

-

* IR (T & )
NS UBILICE B3 B)IL)E
(500AEEDESFEBETHRE
BEDLSBEDNHS) HKE
50-8OMTHLL HRELUTVET,
INBEUEETABRABLET &
EHEHRSRE, BRCKEES
EdaseEhBhET, CEEE
L EW

16




[SBELRIDKFERIDHE)

202064 B BRI (3. T (2020-19FF) £00.7-1.6CHUVKETULR
A, SHBAIIATE. 0.0-0.5CHEVVKBERD, EEEMENLELRE (R2) .
BB, 4BCADTENMEL . BREBOANSN SIS, BIELDEVKEE
&2 TNKT %2 REES AL OKEEEOFHEKE

AAEER FE7 A4 (133 40) |[RE&7 4> (134 00)

AR Om | 30m | 50m | 90m [ Om | 30m | 50m | 90m
20204 15.1 | 14.7 | 145 | 14.0 | 149 | 14.8 | 14.7 | 14.2
A 15.4 | 15.0 | 14.8 | 145 | 15.6 | 149 | 14.8 | 14.4
2010-194 9 | 14.7 | 14.3 | 14.1 | 13.7 | 15.0 | 14.3 | 14.2 | 13.9
FEE 03 |04 |04 |03 ]|]00 |05 1(|05]03

(202062 A DX B REDEIEEN ]
SHREERBRS AT LAD2RRKEN S, FTELBORESHRZITVEIUL.

fiESE(E. B, 58T (2015-194%F) = TFERIDF UL (K3) . BIFE. 54F

RS FR>ZEEE. D5, RILAAT, R, SEFHERE L

Blo/e@BEETY (J\XFiR) . ESYPBTU 20204 (%
i 2 A#st 00 2L A A P 25 475 KRBT

400 =yt %ﬂﬂj 200 EITEIN

, o Bsng
300 = @Tan 4 250 (RIFAAEAE)
by 200 - b 100
pig 100 pLi 50 b <0
0 0 0

SET 5¢+*“ B E -5¢+*“

( )
k)

aiEsE ()

150 o 20 15 2%
Z 1 /\%gﬂ—c L7~ . il ol -3 =]
SIS AZER BEegEiT

(k)

(%2}

15
— N B2t~
< 100 N RIS RY N 10
L L
; ~ 10 il
i 2] ]
= 50 = =
P15 P12 5 oS
0 0 0 .

e (GE)sEvH e GE)sEvs e GEsETH

2AZET(IEIE 10 S—— 10 T 10 - NE
3R FRA fﬁ% LTS | KT

XIRE T EIRRK ot 3

/}\0)7_:&)\ 3H '_l:‘ d et u
H3 28RER%ED . l
FTEHREYD o 0 0

Il Ty
. N 2 =t B4 FEX 31 2 z:
;:%\ﬁx:btiﬂc e 57" P T 5"' e B 5 =

(k)
(k)

= (k)



